HEREG T DN 23T (g U%Eérr—&os)gt —%

TR FHE 15, 90 woh 20%2016 Code : U07
BOOKLET No.
segrma I
T, FUSH, AT A9 F i fovas ges TR ¥ : 100
A% : 1 () T TR 70T : 200
el

(1) B TR 100 FFEE 99 s, Feadd e sw v gea Fwwargdt a swgfeasa wd
v Imed T e ah @l s . o i 3= T Y Tesea™ # WA v

T e A
(2) I THE-HEE 1 SR
T
T gt ) ¥ -
a forgran S R S i

yiten-sais

(3) T BRI FAYIHI A qo=aT Saarrra fafire smft seuferader gt 7 faen g S
@) () = TGkt Tedeh TeATET 4 Wit It gateclt omgE = 1, 2, 3 o 4 3T i fome oTrew.
1 AR IO Fatd AT I FHIE STACRH I YAl qHET STUh T FE1. M
T IeUDRho IGEHE TG HAET 4l GEid TERNIEEN SEifhd HE ghiae WA are
FTsd| T, FTHIAT Fa HTEAT Ve e Ao, Ufier a1 amd 9 a2,
(7)) I war Rt audt i 3ush grean [Afia Fee o, wn fawamn wRe wva gt
i} Wi STyt aTge wETE.

(5) T YT GHF O R4, qnd @ Yere S ardle. U g9 SR T ATl cEdar %A we
T AR Wy disdEd. WA Y9 SEEU S R 90 TETET WA AU JITedTE | rel 4 7
TR Y Ay F@T. o YR aee yedd digeeaa A8 feas tftera s g
FISACAT FEATHS T HISER L.

(6) IAWCIFT UHel g Felel I WISl IR A, TE Fod N Tigd T IW e 9 age [
G2

() eI T IS AT ST SATIRIAT TRt Trg Jat-r ot e wrdier. =
wOER. srar @rea Iaratrehd AsfETa yRs 9r ghisan IWUATE Tt I 1T a1 ST
A’

T AvAuEeREE aranTe fafge St aw divda € sy sl aren sea ot wliarsara sHEERTen
gftsrandt aTovaTE Yvama A9 oy, Aw wivds A TwyfE s/, fhar aet wegfedde sl e
HIVTEATE TEAT NIH A ATAIU ForI swerie ey, ade wftg w0 @ T o st et weorr
A T A e Thiamwed gomear e Sfres wenaraean sififan.s2’ arde wgdigen
T TR ST TELHER HHETE S0 A8 g 2t saa1 FATA T qui=an srograren afon /e saa
TF TR et derear e ura grder.

a0 g1 wyAatrRaTdt fafgn el do savatentt € wyAgiee sAfigau aTer 1 g T SR AW St
AT IR FHARIGETd, T whee wHandmderddl st alidl s saeifaeg Ia sftemEEr

= .'E

e s e @ AR s frde T . 1

gEtT TIasIT eyl acee=nT 3fera gesstras gar

@ﬁﬁm%d‘\ﬁmﬁl

oa

|

th

EAL *

*‘5



Uo7 2
HoAT KIATATS! AN/ SPACE FOR ROUGH WORK



3 uo7

g, ¥ 0 I T o ?
(1) 3IH =45 (2) wE™
(3) @A (4) I

‘A’ A wregTET BT ETE o1 YA HIvAT ?

(1) e, & (2) wd, i
(3) 33, Wt (4) snfee, wlaar
@ TecEgeEe A gt wta fFas.

‘Fies g TytEsT.
(1) Y&9d (2) <Em&
(3) =W (4) T

TR gAY S @ wearen Shferft weg Fas.

(1) o (2) «_FH

(3) o0d = (4) W&
T WTgaTaS TR HI ?

(1) =i, e (2) wrfF, At
3) 94, 3me (4) HaEnd), e

‘Fuarasdian Im’ 31 weeagETen mE 3 e T
(1) %= gfils "o

@) ehe FIBH A et

(3) argd areft g

(4) =l fot foam s,

‘Tremii diT 0% AuRfad weerdid wreedift st TR ASEl.
(1) fRuars (2) goAEES
(3) uEHdES | (4) TEUAEH
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8. ‘a§ fremerga wfaan ue Ffaedy an areTde SRamagE R Hivrr ?

(1) v fepamg (2) WS frame

(3) WIaehys FRATIE (4) A Hrame
9. ‘HARET T Ve Hikfane (e TR SHE i 2

(1) 9N+ (2) HA + &

(8) TA: + (4) T + WF

10. St a7ifor grvand S fowoft TR W A wegavERTEl U e hivid ?
(1) FremR (2) e
(3) IFH (4) ==

11, g Igmeff aver= faammefi ameena st w9 SO0,
Had! 39 TR & |
(1) & ARG AgH 3R
(2) & g 39 B
(3) & T gY 39 I
(4) T SHICHS I8 P AEMEEH I o7

12. Y& vegreA fasomen YR TS,

&, =we, @R
(1) TIUHTETE SETaeSo (2) hHATIh EATERIT
(3) e gEnfagyo (4) ffrag gt
13. B Wi wEamEEst U 9o g A0 Jarell qder Iy ot
(1) wHEER 3o (2) <HETSHA HW
(3) WIENpEAT S ISU (4) wIEUEY GEY g0

14. v Iaudter Hiomdn weg Tg 38 ?

(1) oA (2) TAwH

(3) qmEw (4) CRITEY
15. 39T I vearn Yeraineh) gl g v ?

(1) 3= (2) Wt

(3) 3Ig=Hl (4) @A
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16. Choose the word nearest in meaning to the underlined word :
He had the nerve to face the robbers all alone.
(1) strength (2) capacity
(3) stupidity (4) courage
17. In which part of the sentence below does an error lie 7
Baba Amte was one of the luminaries who was felicitated by the President of India.
I II III
(1) Onlyinl (2) Onlyinll
(3) OnlyinIII (4) No error
18. I.  The tent is made of canvas.
II. He has to canvas for orders.
Identify the correct sentence.
(1) OnlyIis correct
(2) Only Il is correct
(3) BothI and II are correct
(4) BothI and II are incorrect
19. Fill in the blank with the correct form of the word given in the brackets :
His (naive) is quite endearing.
(1) naivete
(2) naiveness
(3) naivety
(4) naivance
20. Choose the correct alternative to complete the sentence :

The trees struck root in earth.
(1) no article, no article

(2) the, the

(3) a, the

(4) no article, the
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21.  Fill the blank with the correct word from the ones given in the options :
with the system has started setting in.
{1) Unenchantment
(2) Counter-enchantment
(8) Disenchantment

(4) Inenchantment

22.  Identify the group of words spelt correctly.
(1) Conceive, illeterate, guarentee, heritage
(2) Conceive, illiterate, guarantee, heritage
(3) Concieve, guarrantee, illiterate, heritage

(4) Concieve, guaranttee, illiterate, heritage

23. What do the underlined words below respectively rhyme with ?

The President’s speech was broadcast live.

He caught a live snake.

(1) ‘give’ and five’

(2) ‘five’ and ‘give’

{3) Both rhyme with ‘give’
(4) Both rhyme with ‘five’

24.  Select the correct substitute for the following word :
Annihilate
(1) To root out an evil
(2) To free a person from blame
(3) To remove objectionable matter from a book

(4) To destroy anything completely

25.  Choose the correctly spelt word from the given options for filling in the blank :

He is a very o person.
{1} conscentous (2) conscientious
(3) conscientous (4) conscientuous
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268. Select the correct alternative to complete the sentence :
If the government had offered adequate compensation, the farmbrs __ their
land.
(1) would surrender
(2) would surrendered
(3) would have surrendered
(4) would have surrender
27. Choose the most appropriate antonym for the underlined word from the options
given below :
Your behaviour is inimical to your interest.
(1) beneficial for
(2) damaging to
(3) reducing
(4) in consonance with
28.  Choose the most appropriate phrase for the underlined word :
If they do not arrive in half an hour, we'll leave.
{1) turnin (2) turnup
(3) turn over (4) turn out
29, Choose the correct word from the given options for filling in the blank :
It was an experience.
(1) exilarating (2) exhilerating
(3) exhilarating (4) exilerating
30.  Which of the given options carries the meaning of the underlined idiom ?

At the end of the performance, the audience brought the house down.

(1) applauded loudly
(2) smashed the furniture
(3) created a ruckus

(4) went home
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31, 7w W amfae AR A sitfaer g e wmeee LIECICRSIE R =
AT T  HieTda AfCefhy I WY e
(1) Shaqee s g
(2) $xFRm anfor s
(3) fheagfaur snfr Faq amar
(4) TIEF B I Teg AEE

On the occasion of World Health Day on April 7th, the Government of India launched
a new public health initiative and a mobile application namely and

(1) Jeevandayi and Sugam

(2) E-Raktkosh and Anmol

(3) Jeevansuvidha and Jeevan Aadhar
(4) Life care and Save life

32. Greiteddht HIVE gH STadt BRICS =491 New Development Bank ¥ ee=n Gafiq F1gia ?
et Aiaeid

TN T

%.fe8. ®ma

70T et

(1) F amfor =

(2) FMms

(3) wamfus

(4) = anfr=

Which two of the following people are not so much concerned with the New
Development Bank of BRICS 7

a. Leslie Maascorp
b. Raghuram Rajan
¢. K. V.Kamath

d. ArunJaitley

(1) aande

(2) aandd

(3) bandd

(4) bandc

o § oA g
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‘o i . 3o 9 #-20-2016° wrea @reite faar foemoa =
A, . aed F9 #-20-2016 9w & e
¥, 3o gm=Td AR €N ARaTs WM e,
®. HioH YT g qWIET S T 9ifvd S s
g, faue el 71 miferan et TevE Oifte woama .
Tt FHorh faam ger amgd ?
(1) a1, qanirs (2) =1, ganfurs
3) A, ®AMg (4) 0= wd
Consider the following statements about TCC World Cup T-20-2016" :
a. The ICC World Cup T-20-2016 was won by West Indies.
b. In the finals, West Indies defeated India.
c. Marlon Samuels was declared as the player of the match.
d. Virat Kohli was declared as the player of the series.
Which of the above statements are true ?
(1) a,bandc (2) a,bandd
(3) a,candd (4) All of the above

34.

AR, T4 Ir<A1 HeHia wrefe faum femm e .
A, q A AT S0 FHUS IS Ireqs eV gaia qitfad amga.
¥, T 9T WHRA 2013 Tt 9HA T O M.

F. A 2016 AT “AE.LUEG, T AE B GERR T FTEIAA NATSHA Betaee
Thad 1Mt ane.

FheH o faur st o1eq ?
1) HAanmg (2) &1 anfors
(3) FHM & (4) 3, g+

Consider the following statements regarding U.R. Rao :

a. Heis a space scientist and former Chairman of ISRO.

b. He was awarded Bharat Ratna by the Government of India in 2013.

¢. He is honoured by the International Astronautical Federation with the “[AF

Hall of Fame” award of 2016.
Which of the statements given above are correct ?
(1) aandb (2) aandc
(3 bandc (4) a,bandec
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35. St @Efi|d o T A ATH Giad AR o GEvIEdl HEReg S

FeTeAT @TE! FfART (Borewells) @evamd dqvf TsIw Fd} heft 3TTg.

(1) 200 (2) 250

(3) 300 (4) 400

The Maharashtra Government has banned digging of borewells beyond
feet in order to check the steep decline in ground water level across the State.

(1) 200 (2) 250
(3> 300 (4) 400

36. 1 GaaETe SRR Yfgea varEd O fauas dreand wigd Aol HE
T T,
(1) T eft
(2) =@.d &
(3) <EdwE
(4) = i wE
Panchayat Raj Bill was first introduced and passed by the Lok Sabha during the
Prime Ministership of
(1) Rajiv Gandhi
(2) V.P.Singh
(3) Chandrashekhar
(4) P.V.Narsimha Rao

37. ST IR S
(1) s st sdAe Fraaa st faRaa e sifesreama s,
(2) SHIEEITET 9T ShedTEr FRiveng safwan fier feft Jmom .
(3) FIIC FOUTY AUSN § Al YH Tifredi=am gt s,
(4) A WE,
The Rule of Law means
(1) existence of written rules to regulate the conduct of government officials.
(2) that no person can be punished except for a breach of law.

(3) that the power to. make laws vests in the elected representatives of the people.

(4) independence of the judiciary.

FoeAT HIHNISE AR / SPACE FOR ROUGH WORK
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38. W IR T wuaEeyia Ged g demd w0
.y gmfercagaida fan 3 $rg sy 9 Frefit samE ap] gia .
9. URAW JSHe 9 Sdafsanthl fhH Ut wiy sl sedt AT I S 9.
%, TAleuiigR AR I ®& 3iEPuT=ar syl Satd fhAE wen afed W s,
g, AmiEheRor= SRR weiE A I SvTEndt o SrefiEn Srdra e e ad
TRa™ e
TRl STt faum @ 318 2
(1) o i & (2) 1 anfor %
(3) wamfrg (4) =t o
Consider the following statements regarding the acquisition of Indian citizenship :
a. Rules regarding the citizenship of India shall not be applicable to Jammu &
Kashmir.
b. If born in India, only that person can acquire citizenship at least one of whose
parents is an Indian.
c. If the citizenship is to be acquired by registration, six months residence in
India is essential.
d. If the citizenship is to be acquired by naturalisation, the person concerned
must have residence in India for five years.
Which of the above statements are correct ?
(1) aandb (2) aandc
(3) bandd (4) All of the above
39. TR Sholedl WA $ecdl AN THhaHAEd Fald I H&A- TEE JFT Wed A1ard ?
(1) faw (2) 3ffem
(3) WeT yeu (4) TEMR
From amongst the following, which State has the largest number of reserved seats in
the Lok Sabha ?
(1) Bihar (2) Odisha
(3) Madhya Pradesh (4) Maharashtra
40. ifaa 9 It @EA (He-21) 7 <1 g9 gl
(1) SHE=ET R (2) IRTE JER
(3) Wiha Rrgum=n arfawR (4) =mTEl ATYHR
The scope of Life and Personal Liberty (Article-21)} includes
(1) Right to Bonus (2) Right to Health
(3) Right to Free Education {4) Right to Work

o] FHMIS! ST / SPACE FOR ROUGH WORK P.T.O.
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12 A

“Sreronf¥ar Bviard arh Faf sell T8 g g fMgrh yraren s srevasan
R.” 3 Yeter sqeRIfh Hiv Tgue ?

(1) waud g HER

(2) HERH SATE Fot

(3) HHER WISUE T

4) Wl aiet HvE Fa

“No country has made progress without education, therefore education is mandatory
for the Indians.” Who said this ?

(1) Chhatrapati Shahu Maharaj

(2) Mahatma Jyotirao Phule

(3) Karmaveer Bhaurao Patil

(4) Maharshi Dhondo Keshav Karve

42.

W MR Wi §IUR fEt g T B
(1) == TEe

(2) FaFa I

(3) 3myd IR af

(4) FHER 9

The first newspaper published in Indian language was
(1) Bengal Gazette

(2) Kolkata Gazette

(3) Amrit Bazaar Patrika

(4) Samachar Darpan

G T e’ o I T A o e oM ?

(1) fa.z. dE

(2) @ feas

(3) Wt

(4) 3. TSRS IEEH

Who has described the caste system as ‘Sat Swadeshi Shrinkhala’ ?
(1) V.D. Savarkar

(2} Lokmanya Tilak

(3) M. Gandhi

(4) Dr. Babasaheb Ambedkar

FHrocd] HIHRITSE ST / SPACE FOR ROUGH WORK
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44. Tz unsh R greed gefte qhadsh For/wod fur/faen s sna/emy ?
3. A AT aunfatg FER Shel.
9. TR At deefi @t 7a ava .
®. M S WievEreal YU ggl el
T A VSTes IR FEEEE T hef).
(1) & A (2) %¥a 3 o |
(3) e A, & YT H (4) 1,9, 08

Which of the following statements related to Vitthal Ramji Shinde is/are correct ?
a. He propagated against the festival of Holi.

b.  His thoughts about the community of the criminals were right.

c¢. He attacked the tradition of ‘Murli’.

d. He established Scheduled Castes Federation.

(1) Onlya (2) Onlyaandb

(3) Onlya,bandc¢ (4) a,b,candd

45. TERTIH HivrAT SR/ TERIRIG HIGTE T SH S0 oW A= Fel ?

A, ATEY FREE

q. fagoe foe widia

%. dda qEl i

$. 9EqUd ATEH

(1) %aa A (2) had o afor §
(3) ad 3, § 01 H (4) 31,9, % A0

Who, from amongst the following persons, imported for the first time the stem of
sugarcane to Maharashtra from Mauritius ?

a. Jagannath Shankarshet
b.  Vitthalrao Vikhe Patil
¢.  Vasant Dada Patil
d. Vasantrao Naik
(1) Onlya (2) Onlyaandb
(3) Onlya,bandec (4) a,b,candd
FoegT BTG SIFTT / SPACE FOR ROUGH WORK P.T.O.
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46, #1896 med geftardt ‘T welfaeTew wurE .
(1) &l g9
(2) wwpw fawm
(3) X T
(4) Troaiteea aaEd
__started ‘Kanya Mahavidyalaya’ for girls in 1896.
(1) Brahmo Samaj
(2) Ramkrishna Mission

(3) Arya Samaj
(4) Theosophical Society

47. 1931 = Miens yiweAat “afraeft el anfor fresten wier” o s it Frect ?
(1) g
(2) dfEq SaTEET 18
(3) . SRR ATeEH
(4) et s
“We asked for bread but got a stone.” Who said this after the Round Table
Conference of 1931 ?
(1> Mahatma Gandhi
(2) Pundit Jawaharlal Nehru
(3) Dr. Babasaheb Ambedkar
(4) Barrister Jinha

48. A GEH TS qeohled YaueH ifad @ B,
(1) SaTEEe A5e (2) TR e
(3) et gt wred @ faw. @
The then Prime Minister was impressed by the project of Amul

Cooperative Society.
(1) Jawaharlal Nehru (2) Gulzarilal Nanda

(3) Lal Bahadur Shastri (4) V.P.Singh

ToedT BIHRIG! SR / SPACE FOR ROUGH WORK
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49. 1857 =1 Io1a fafem R o W, I <A amfor T wEra e
B

(1) T i fera
(2) wud anfor @
(3) Tra amfor Tiqg
(4) fo@ snfor 7ad

The British were able to suppress the Revolt of 1857 because they got the support of
the and the

(1) Gurkhas and Sikhs

(2) Marathas and Gurkhas
(3) Sikhs and Rajputs

(4) Sikhs and Marathas

50. WTETY VeWiE Ir=A1 FRiieed 6oy wera @i @elleldl S gedt G gife e
qd ?
(1) feew aie & fim
(2) T4 FERY
(3) T

4y W

Jagannath Shankarshet was felicitated for his work by the British Government with
which of the following honours ?

(1) Justice of the Peace
(2) Rao Bahadur

(3) Raja

(4) Sir

FE] HIRATS! SR / SPACE FOR ROUGH WORK P.T.O.
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51. HRAWE W@WEEE WA 6740 9. fh.ft. N ooeie o & wmdter @rgdt SimersAn
TR IR

(1) 2T (2) 4T+

(3) 3T (4) 7T

In India, the mangrove forests are spread over 6740 sq. km, forming of the
world’s mangrove forests.

(1) 2% (2) 4%

(3) 3% 4 7%

52,  Wrcllerash! o fegare S Faran g 2011 =47 SRAYHY SEd 318 2
(1) 7gER (2) Tifen
(3) g3 (4) OO

According to the 2011 Census, which of the following districts have more women’s
literacy rate ?

(1) Nandurbar (2) Gondia
(3) Dhule (4) Parbhani

53. 12 3R 1997 Ufl WeWIe WHA Gieftetshl sivrea fegare faume sweoarn fofa Sqer 2
(1) 3FRIeN (2 93
(3) SHWMER (4) <

The Government of Maharashtra took a decision on 12! August 1997 to divide
which of the following districts ?

(1) Akola (2) Dhule
(3) Osmanabad (4) Chandrapur

54. AT T HREPIN TERISCHY AReitd IEd S SA9e TR 2
(1) g3 — A1fEe — s
(2) Y — ATTYL — FIAHTAT
(3) arR — AR - FGUER ~ HATHAR
(4) WA — foemgy — fesgt
Which National Highway covers the maximum distance in the State of
Maharashtra ?
(1) Mumbai — Nasik — Agra
(2) Dhule — Nagpur — Kolkata
(3) Varanasi — Nagpur — Hyderabad — Kanyakumari
(4) Solapur — Bijapur — Chitradurg

FoEqT BHMEIE! SIFT / SPACE FOR ROUGH WORK
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AERSHY anfr 1 @iy g fafnmrse (Sillimanite) anfor weirge
(Fluorite) I/ Ied1e Badt 3.
(1) R (i) sufi Mo (Faawmes)
(2) SrEMER (AMTgL) I hedes (faug)
(8) e (Feremres ) ST g (7lifean)
(4) wga (viife) sufhr Smens (SEE)

In Maharashtra and mines produce Sillimanite and Fluorite
minerals respectively.

(1) Khursipar (Gondia) and Gaurala (Yeotmal)

(2) Patgowari (Nagpur) and Kadaval (Sindhudurg)
(3) Gaurala (Yeotmal) and Pohra (Gondia)

(4) Pohra (Gondia) and Dongargaon (Chandrapur)

o6.

AR JUITUEATS TOMT HAFT <A1 Ul Jriid fasfia aufa 50 =@ =
g s e e e 21, STt wmaY gl

(1) 2§ (2) 3% (3) 4°% 4 58
Sick industrial company means an industrial company which has accumulated losses

equal to 50% or more of its average net worth during immediately
preceding such a financial year.

(1) 2years (2) 3years (3) 4 years (4) 5 years

517.

T 1949 - 50 =1 fo¥ IRMHER TR Yoid: 3R VId: Feamdrer safeaeal
T St .

(1) &g Iam

@ T TEm

(3) T M

(4) fdersE M

According to the 1949 - 50 Finance Commission . runs partly or fully with
family members.

(1) Small scale industry

(2) Cottage industry

(3) Ancillary industry

4) Tiny industry

LT SEAIS! ST | SPACE FOR ROUGH WORK P.T.O.
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58. @refterishl Fivien AEr@=a ge@ o8l (Deccan Trap) 99iced i 7T 2
(1) ardt

(2) o

(3)

(4) A% AE

Which of the following river basins is not dominated by Deccan Trap Basalt ?
(1) Tapi

(2) Purna

(3) Wainganga

(4) None of the above

59. Wl fafay e Pravomendt wafawr W € weetr wduey 71 fafem
iqEgE ",
(1) =red Teed (1927) (2) T&Eu (1942)
(3) .. angw (1971) (4) et @

The concept of ecological pyramid was first developed by a British ecologist
to show various trophic levels in an ecosystem.

(1) Charles Elton (1927) (2) Lindemann (1942)
(3) E.P. Odum (1971) (4) None of the above

60. ldmfomammmea sy ® e
(1) . s @
(2) w. affE &
(3) s
(4) ot gem Y
___ is the Chairman of the Fourteenth Finance Commission.
(1) Dr.Y.V. Reddy
(2} Prof. Abhijit Sen
(3) Shri Ajay Jha
(4) Ms. Sushma Nath
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61. UGHH SARI W YRATH! fedrt
(1) et Feft srfrerirl sted

(2) ft At e

(3) gt geasa=l e
(4) HH Fefl qeasarE T

As far as balance of trade of India is concerned, our country is
(1) Sometimes in surplus (+)

(2) Always in surplus (+)

(3) Always in deficit (-)

(4) Sometimes in deficit (-)

62. HNSTATE VIS Aaeh—ae ITA FTeiARTEEt T 2012 — 13 Hell FRean &% fGwm Fedha
(RADP) T VeI Ioq9 aIE(audTETs! Sgif=<Ia Hoard Hiel.

(1) 20
(2) 22
(3) 24
(4) 26

During 2012 - 13, Rainfed Area Development Programme (RADP) was implemented

in States to enhance farmers’ income in rainfed areas.
1 20
(2) 22
(3) 24
(4> 26

el BHMEIS! ST / SPACE FOR ROUGH WORK P.T.O.
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63. 20014 2011 31 ST VAT AhaEA GG % TIE Frea.
(1) 17-19 (2 1764
(3) 1812 4) 1312
Decadal population growth during 2001 — 2011 in India was percent.
(1y 17-19 (2) 17-64
(3) 1812 4) 1312
64. e fomm fteg (WDC) < wememn TRH 3t
(1) 1983 -84
(2) 1984 -85
(3) 1985 - 86
(4) 1986 - 87

Watershed Development Council (WDC) was established in
(1) 1983 -84
(2) 1984 -85
(3) 1985-86
(4) 1986 - 87

65. I=rEEEd ‘Dear m()ney’WST?falﬂTiﬁ,ﬁ IqTeY IS,
(1) e =T &t
(2) FH = T
(3) wufed (|=) sar e
(4) ANEH S @i

The meaning of ‘dear money’ in monetary system is that where the money is being

borrowed at

(1) high rate of interest
(2) low rate of interest
(3) same rate of interest

(4) None of the above
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66. @M I Tokvr Ao Siaessiaes 2-5 29 89 o 3Tgd, @me AR T
T GBI ATEIET 373,
(1) 45 (2) 75
(3) 105 (4) 145
India occupies nearly 2-5% of the global land mass but it has about percent
of the identified biological species.
(1) 45 (2) 756
3) 105 (4) 145

67. T 1991 =1 liberalisation, WA T8 AN GO, WhIT AMT AHATH
JAUIT Taav el ot el warrht e et 2
(1) 71 cFramadd (THTER)
(2) 81 cFFadd (TEai)
(3) 51 TFRad (U
(4) 49 TFFITHE (THVTTE)

Under liberalisation, privatisation and globalisation policy 1991, the limit for direct
foreign investment in India was granted up to

(1) 71 percent of the project cost
(2) 81 percent of the project cost
(3) 51 percent of the project cost

(4) 49 percent of the project cost

68.  YWRA TEWHET sTd ngfeTaad Bt frrft siaada maifea am 2
(1) 8-11 ferht 2) 5 frfi ofa
(3) 11 fomft e Sa 4) 15-20 fwh
In India fishing operations are limited to how many km from the sea shore ?
(1) 8-11km (2) Upto5km
(3) More than 11 km (4) 15-20km
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69.  uwior o w2013 W IER FA H, Afgen @ wed M (SHG) @ % AT
T H .
(1) 4 (2) 7
3 11 4) 14
Rural Development Minister declared in 2013 that the women self help groups will
now get loans at % interest rate.
(1) 4 2y 7
(3) 11 (4) 14

70. QAR Hivia UK Wemrl WEwIsg Usarqd T A7E 2

(1) N.H. -5 (209 NH -6
(3) NH. -7 (49 NH.-8
Which of the following National Highways does not pass through Maharashtra
State ?
(1> NH.-5 (2) NH.-6
(3 NH. -7 (40 N.H.-8

71, g e memesmd Toftg it gefer faEdieo AsEgR . % Wy
TRmd YfIuT=n wigad @ared TR A U Ad.
(1) 20 (2) 40
(3) 80 (4) 90
Under RGGVY, subsidy towards capital expenditure in rural infrastructure to the
tuneof % is provided by the Rural Electrification Corporation Ltd. (REC).
(1) 20 (2) 40
(3) 80 (4) 90

72.  Raq It g (CSA) & Gean etemene) favawd TRef g Wiell Higavam e,
(1) 2004 (2) 2005
(3) 2006 (4) 2007
Centre for Sustainable Agriculture (CSA) was registered as a trust in Hyderabad in
theyear
(1) 2004 (2) 2005
(3) 2006 (4) 2007
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73.  wgon Ml U anfien TR g FEEEd I SR eedd (Job card)
T 2013 — 14 Trelt v AT,
(1) 386
(2) 4886
(3) 286
(4) 186

Under Mahatma Gandhi National Rural Employment Guarantee Act
crore job cards were issued during 2013 - 14 to the workers.

(1) 388
(2) 486
(3) 286
(4) 186
74.  WRATAT T GG AifEdT TAGETET 1998 A 1-2% W 20120 % .
(1) 45 (2) 556
(3) 65 4 175
Information Technology Sector in India has increased its contribution to the GDP
from 1-2% in 1998 to % in 2012.
(1) 45 (2) 55
(3) 65 4y 756

75. frum S g gk I fear S Sae—add QgriavarEn
(1) w4 w4 $.84.%. FEm
(2) HAFAA B 37T TE YT HUET AT
(3) &3 wd HY fFemdis anfor $i dww Fea s
(4) TR FoErE @y =

For the Kisan Call Centres that deliver the agricultural extension services to the
farming community

(1) Costs are borne by KVKs

(2) Very negligible charges are required to be paid by farmers

(3) Costs are borne by Agricultural Universities and Research Institutes
(4) None of the above
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76.  H T Fz, Nde A9 @ T sl wid ra fawiia weed o m 2
(1) qewoft Hidt (2) wrBEEl

(3) WEEE (4) @yt

Which is the Sorghum variety evolved for Rabi season at Agriculture Research
Station, Mohol ?

(1) Parbhani Moti (2) Kalbondi
(3) Maldandi (4) Satpani

77.  Yerfia T S SO AT 7
. Sireta ik o 9 AW TRV I9gE TR
4. o g&did T (g et wamE.
%, g 9@ g Y.
T el wmn = arm.
(1) % A (2) Sua & M1 &
(3) S A, T A F 4) wFE

What is/are correct about legumes ?

a. Legumes are useful both as food and fodder.
b.  They fix atmospheric nitrogen.

c.  Suppress weed growth.

d. Require less quantity of phosphorus.

(1) Onlya (2) Onlybandc
(3) Onlya,bandc (4) Onlyd

78. e arffetngan fiwrear arEdEE s o e I T 7

(1) I 2 @t

(3) @Il (4) IV

As per land capability classification, what class is the most suitable for cultivation of
crops ?

(1) ClassI (2) ClassII

(3) Class III (4) Class IV
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25 uo7
FEATHRUE: HERYIE Haedr ST ‘STreael SHarn draadl f&dl ang ?
(1) 10- 12
(2) 12 -147fA
(3) 141677
(4) 18-207f=
What is generally the duration of ‘Adsali’ sugarcane planted in Maharashtra ?
(1) 10 - 12 months
(2) 12 - 14 months
(3) 14 - 16 months
(4) 18 - 20 months

80.

Terad! S A Gen HIg SR ?
(1) «UFE

(2) fremEEm

(8) SR

(4) HEE

Where is the Central Inland Fisheries Research Institute located ?
(1) Barrackpore

(2) Vishakhapatnam

(3) Varanasi

(4) Cochin

81.

TS SdisR TRom o= 31 (Anthropic) SEHRIE] TEW gl
(1) HHEEET (2) i

(3) SrdEE (4) IrgafEd=T
What do anthropic factors affecting crop growth include ?
(1) Man (2) Soil

(3) Climate (4) Heredity
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82. wEEE! Aftg uft S TS w1 o 2
A, A HH e
o, AT I w1y
%.  qR g dawm
T, IEged UE
(1) &\ A
(2) e 7 AT
(3) wFF A, § oMM &
4) A,9,HANMg
Why does soil need application of water for plants ?
a. Toreduce stress
b. Release nutrients
c¢. Maintain temperature
d. Absorb nutrients
(1) Onlya
(2) Onlyaandb
(3) Onmnlya,bandc
(4) a,b,candd

83,  idten ASEH qvfl QEay T ugh et

(1) St (2) IwEd

(3) TIE AF AN (4) TE=a arEma
Rotational water supply to fields by turn is referred to as

(1) Shejpali (2) Warabandi

(3) Duty of water (4) Frequency of irrigation

84, wERE v G Y b a7 7

(1) W& (2) e

(3) W 4

From amongst the following, which crop is not an erosion resistant crop ?
(1) Groundnut (2) Hulga

(3) Soyabean (4) Proso millet
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85. e ol

< 7 [

H q
FTIAT HTTT qTvgTS NATT
¥ o™ IH I  50-60%
T, Tied AS™ @S IL  60-70%
F. ORI d” . 10-15%
g, e wievil Fa uI V.  90% dan i
A q % k-
(1) Iv IT I11 I
(2) IV I I1 I
3 I I11 v I1
(4) II v I II1
Match the pairs.
‘A’ ‘B’
Plant parts Amount of water
a. Apical portion of root system I 50 — 60%
b.  Woods of large tree II.  60-70%
¢. Stems of sorghum III. 10-15%
d. Freshly harvested grains IV.  More than 90%
a b c d
(1) IV I1 II1 I
(2) Iv I II 11
3) 1 I11 Iv I
(4) 1II v I II

86. WY FE T sameT foas e o o @ ?

(1) 15% (2) 25%
(3) 35% (4) 45%
What is the normal increase in yield of a cotton crop due to drip irrigation ?
(1) 15% (2) 25%
3) 35% (4) 45%
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87.  ‘efhy a1 FriET e AT WA wHEAW Bt ?

(1) Osteoglossiformes

(2) Siluriformes

(3) Anguilliformes

(4) Cypriniformes

In which order are ‘Catfishes’ included ?

(1) Osteoglossiformes

(2) Siluriformes

(3) Anguilliformes

(4) Cypriniformes

88, fafaw fier Ifrfen v @iy =1 ook =g aft S amer fem Far SR a9

TR 7181 ?
(1) wd =60 @t (2) & = 90 T
(3) weE =90 Tt (4) g = 90 &t

In respect of soil depth from which various crops extract most of their requirement of
water; which pair does not match ?

(1> Rice =60 cm (2) Groundnut = 90 cm
(3) Safflower = 90 em (4) Wheat=90cm

89. Houiad F1 @ IR ?
A, Wl Taa™ WEHEY A Ahiae feerEasitie T3 .

9. Tl 3ot wwane iftes fafay yer=ar aaeadt @,

(1) TR, 99 F 18 (2) & =US, 90 37 AT

(3) < =% (4) S SO

What is correct about sheep ?

a. Sheep are economical converters of grass into meat and wool.

b.  Sheep eat more variety of plants compared to any other livestock.
(1) ais correct, but b is not (2) bis correct, but a is not

{8) Both are wrong (4) Both are correct
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90.  mwarS T e A S ?
(1) &1,9,%,3 (2) A, *, %%
3 ¥,%,%, % @ #,3%4%4%
Which vitamins are present in animal milk ?
(1 AB,CD (2) A,C,D,E
3 B,C,D,K 4) A,DEK
91. §d vHIeN WEE! el AmiE it =fe =@ @ Fid ?
(1) &R (2) «=U
3) w4 (4) =
What is the most popular and palatable grain for all kinds of livestock ?
(1) Jowar (2) Bajra
(3) Oat (4) Maize
92.  ES I I gHE SheEett S ?
SVINCL (2) R
(8) Wl (4) e
Which cow breed is considered as a milch breed ?
(1) Deoni (2) Gir
(3) Malvi (4) Gaolao
93. Gl it Wit T & wad arsgehard! IwAl AT ?

(1) TR

(2) T

(3) wIHS

(4) smdiaHes

Which of the following Indian cattle are only a drought purpose breed ?
(1) Gir

(2) Sahiwal

(3) Kankrej

(4) Amritmahal
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94, Ty VESWH JRA ST SEad yao e are 2
(L 13z (2) 56
(3) 7% (4) 10 F%
What is the maximum limit of moisture content in milk powder ?
(1) 13% (2) 5%
3 7% (4) 10%
95. ‘@ % unft wnefEvarht vgza (Water harvesting) Fiven Usgma fasfea simeft 2
(1) ToER (2) TSEYH
(3) T AW (4) &
In which State was ‘Khadin’, a method of water harvesting, developed ?
(1) Bihar (2) Rajasthan
(3) Uttar Pradesh (4) Kerala
96. <= ggdiuen SN qgHia 15% 9 AR dTEet 1S wharg ?
(1) wTHHL (2) T
(3) Tt 4) FE
Which system of plantation allows 15% more trees than a square system ?
(1) Hexagonal (2) Rectangular
(3) Triangular (4) Contour
97.  YRATIS B Helt yatar SAmed wyenata e weft I ?

(1) HETENA A

(2) e A

(3) IEHAEHR TWE

(4) EESre FWE

In which Agro-ecological area is shifting cultivation adopted in India ?
(1) In hilly orchards

(2) Inlow lying lands

(3) In tropical forests

(4) In deciduous forests

Hoe] BHTATS! AN / SPACE FOR ROUGH WORK



A 31 Uo7

98. UF 9Nl IS % v HATT F Arefearaedt Hivd 39 FEd ?
(1) werEde i AR (50%) Fed T
(2) fafim
(3) TN Qfer ATRUR ST vt
(4) = gd
What are the measures to overcome alternate bearing in mango ?
(1) Deblossoming upto 50%
(2) Ringing
(3) Ploughing and harrowing twice in a year
(4) All the above

99, wEUED filem ‘His wiew I Wieliatht e ereeier th g WY g ?
(1) s
2) tamfrw
(3) FTanfT®
(@) ¥amfre
Which of the following vitamins is a ‘cod liver oil’ from fish a valuable source of ?
(1) AandD
(2) EandB

(3) AandC
(4) Eand D

100. FHSHIE HoseSTa1 HIVKI 9 T8 ?
(1) =R, damwes, fo4, S, T
(2) ¥R, damhes, IIE, HEg
(3) s, o=, e, et
(4) fe=, s, 9w, foag
Which one is a group of dryland fruits ?
(1) Ber, Sitaphal, Tamarind, Cashew, Kokam
(2) Ber, Sitaphal, Papaya, Karonda
(3) Sitaphal, Tamarind, Mango, Banana
(4) Tamarind, Mango, Ber, Sapota
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(8) wIfwael fafga Foiear fiftne wrfle F= #W (6 9%) WH. THgfResafiiE STEEFaR a1 @
FIRER F FW Feq¥ ¢ Y FOATT ITAA Hel AR, 37/ THA I I TFIR IHGERE T
I Feear ‘vhynmed o= Ry vfoey FeaEEee sffEn-82” I wEdigan wraT
FOT J€aT I T o¥ed] HATA Uh IueAT HRIETEISET 0/ fha1 390 T d9R {601 cereT e
T B

(9) T yFIRFAE T fifde Foich 3o TueaH Icaen @ Ty @ Eie SORTHHER
U3 IOEE TEAE AR, W GOETEEnR Aagd] IHEENY Hqed SYRdiNaeT WI-1
ARAYETEE 7 REE wa =1 aravas AT,

. . 201.

q. %. 201.

oTislT HReT
T 91 T oAl Sl gea: yEe e ?
(1) v e et (2) vy, TR
(3) T TEHIE W (4) ToEFs MEd
T WA I TR C(3) T THEET 1E I IR, e 41 Y I (3) 3, IneE
GrEfEayAm I %, 201 TElE SR-Haw Q) 2 Te i Stk we qrEfan e
e,
© @ @ ©
3T UgdA WEGd NeYEahdle Wedd YT qHET ST-EETH g gReel S gudeen
STtihelel o T TETREEHE §Niia 90 qUiT STihd e SrEaE. gt
e SieaT T Fieds araad, YR a1 wg e |iaE 19,
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